1. Read the text and write T (true) or F (false).

1. Shannon’s doctors wanted to postpone the wedding.

2. Jones was midway through chemotherapy treatment, so she changed the wedding date.
3. Even though her hair fell out, Jones was able to wear her mother’'sveil.

4. Shannon is now in remission and planning her long-awaited honeymoon.

5. The newlyweds did not even cancel their honeymoon plans.

2. Which of the following best expresses the main idea of the reading?

A, Shannon's strength and determination took centre stage on her wedding day.
B. Being sick with cancer makes people weaker and weaker day by day.
C. Unfortunately, many cancer sufferers delay important celebrations.

D. Chemotherapy treatment may not be hard to endure for some patients.



